
Jerry Greer's Engineering - 1940 Chief - Tool Box

Ref Part # Qty Description Price

Page 1               Created On: 04/19/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Tool Box

Ref Part # Qty Description Price

1 75522 1 TOOL BOX, lock assembly included, mounting hardware not included; Bare Finish $235.00

2 JG-3238 1 LOCK ASSEMBLY, includes lock, key & lock tab $75.00

3 JG-3198 1 FASTENERS, includes mounting brackets, coupler, and hardware, mounts tool box to engine $140.00

4 42600 1 TOOL BOX BRACKET, upper support $65.00

5 42601 1 TOOL BOX BRACKET, lower support $65.00

6 207007 4 BOLT, 1/4''-28 X .500''(Hex) $2.75

7 922006 4 WASHER, 1/4'' Split Lock; Cad Plated $0.75

8 40090 1 COUPLING NUT, 5/16''-24 X .840'' long(Hex); Cad Plated $8.75

9 207109 1 BOLT, 5/16''-24 X .625''(Hex) $3.75

10 922007 1 WASHER, 5/16'' Split Lock; Cad Plated $0.75

11 42769 1 STUD, 7/16''-20 X 6.125'', tool box mount; Cad Plated $25.00

12 JG-2573 1 DECAL, 1-7/8"W X 2"H, dealership, "Brave" head, in maroon circle, white arrowhead, water transfer placed on tool box door $4.00

13 JG-2684 1 DECAL, 2'' Dia. Brave head, in gold circle, Digital printed, Clear UV vinly, tool box door $4.00

Page 2               Created On: 04/19/2024 - Copyright 2024 Jerry Greer's Engineering


